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Question Number : 1 Question Id : 558139205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is meant by BIOS?

Options:

, « Basic Input/ Output System

- % BigInput/Output System

5 ® Bring In - Out system

4 w Broad Input/Output System

Question Number : 1 Question Id : 558139205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 558139206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using MS Windows and use Alt + Print Screen, you would be:

Options:
, w Printing a document

> of Taking a screenshot
s u Closing a window

, » Enlarging a window

Question Number : 2 Question Id : 558139206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 558139207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you use Cirl + Esc. you will be:
Options:
; w» Closing a tab

> » Enlarging a window

-  Bringing up the Windows START menu

4 % Take a screenshot

Question Number : 3 Question Id : 558139207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IfE 37T Ctrl + Esc &7 39ITT a3 £ aF 3T
Options:
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Question Number : 4 Question Id : 558139208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MICR stands for:
Options:

, « Magnetic Ink Character Recognition

- » Magnetic Ink Code Recognition
- % Magnetic Ink Character Region

4 % MetaInk Character Recognition

Question Number : 4 Question Id : 558139208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 5 Question Id : 558139209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A microprocessor is made up of millions of

Options:

, % Registers

> % Microchips

- » Program counters
4 « Transistors

Question Number : 5 Question Id : 558139209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 558139210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a motherboard?
Options:

, w Itisalarge storage device

- It a place where the CPU. memory and other devices are connected with the computer

- » Itisthe name of the first super computer

4 w Itisatype of black board

Question Number : 6 Question Id : 558139210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 558139211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following groups comprises only input devices?

Options:
| % Printer. Scanner and Mouse

5 % Printer. Mouse and Monitor
-  Keyboard. Scanner and Mouse

4 % Printer. Mouse and Plotter

Question Number : 7 Question Id : 558139211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 558139212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following is faster - SRAM and DRAM?

Options:
i * DRAM

> « SRAM
5 » They are equally fast

4 # Cannot be compared

Question Number : 8 Question Id : 558139212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 558139213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following memories requires to be refreshed?

Options:
. % RAM

> « DRAM
- % ROM
4 % RAM and ROM

Question Number : 9 Question Id : 558139213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % RAM
- + DRAM
5 % ROM

, » RAM 3T ROM

Question Number : 10 Question Id : 558139214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A computer virus that actively attacks an anti-virus program in an effort to prevent

detection is:
Options:
1 % Worm

> « Retrovirus
= % Ghost
4 % Trojan

Question Number : 10 Question Id : 558139214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 558139215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:

1 « Hard Disk

> % SRAM
5 % RAM
4 # DRAM

Question Number : 11 Question Id : 558139215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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> % SRAM
z % RAM

4 # DRAM

Question Number : 12 Question Id : 558139216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following statements is false?

Options:
, w Information stored in RAM can be changed by overwriting it.

-~ % Information stored in ROM cannot be changed by overwriting it.
5 » Information can be stored in any location of RAM.

4  Computer main memory can be accessed only sequentially.

Question Number : 12 Question Id : 558139216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T RlT & ¥ FiF O F39 38T 27

Options:

, » RAM & Faifgd F=al 1 HGWSET FIF gl T Fhell £l



, « ROM & TofRya Sl &7 MIRET FF q&o S 78 Tl B
. » SR F RAM F T off T & @afed o o w2
FFIX AET HANT T Had HiAF T ﬁﬁq@”mmm%l

4 <

Question Number : 13 Question Id : 558139217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you use Ctrl + W, vou will be:
Options:

, « Closing a window

-~ % Opening a new file

5 » Bringing up the Windows START menu

4 % Take a screenshot

Question Number : 13 Question Id : 558139217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IfE 3T Ctrl + W &7 39I19T &g & ar J19

Options:
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Question Number : 14 Question Id : 558139218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are warm booting, then you are:

Options:

, « Restarting the computer when it is already on

-~ % Restarting the computer immediately after switching it off

- » Starting the computer after many days

4 % Warming the computer in winter season

Question Number : 14 Question Id : 558139218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 558139219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The operating system software and data, that the computer is currently using, are stored in:

Options:
1 ® ACP

- % USB
% # Hard Drive
4 « RAM

Question Number : 15 Question Id : 558139219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % ACP
., » USB

. v RAM

Question Number : 16 Question Id : 558139220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The ability of an operating system to run more than one application at a tume is called:

Options:
, % Multi user computing

-~ % Object oriented programming
5  Multi-tasking

4 # Special tasks

Question Number : 16 Question Id : 558139220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 558139221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Linux is a:

Options:

, % single user, single tasking OS

- » single user. multi tasking OS
5 » multi user, single tasking OS

i multi user, multi tasking OS

Question Number : 17 Question Id : 558139221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 558139222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a DOS command?

Options:
, # COPY

> % DATE
5 % DEL
i CHT



Question Number : 18 Question Id : 558139222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % COPY
> » DATE
5 = DEL
S BT

Question Number : 19 Question Id : 558139223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An operating system that can do multi-tasking means that:
Options:
; w The operating system can divide work between several CPUs

-  Several Programs can be operated concurrently

- % Multiple people can use the computer concurrently

4 = Single person can use the computer concurrently

Question Number : 19 Question Id : 558139223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 558139224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You just changed Windows 9§ in your computer to Windows XP. you have just:

Options:
, % Upstarted the operating system

-  upgraded the operating system

5 » downgraded the operating system

4 % patched



Question Number : 20 Question Id : 558139224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 558139225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Various applications and documents are represented on the windows desktop
by

Options:

, % Symbols

- % Labels

- w Graphs
4 « Icons

Question Number : 21 Question Id : 558139225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 558139226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:

, % Notepad

> % MS word

5 % Wwordpad



4 « Paint

Question Number : 22 Question Id : 558139226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 558139227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You are trying to restart the computer. Which combination of keys will you be using?

Options:

1 ® Del+Ctrl

> % Esc

3 « Cirl + Alt + Del
4 % Insert—+ Esc

Question Number : 23 Question Id : 558139227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options :

1 ® Del + Cirl

- % Esc

z « Ctrl + Alt + Del

4 % Insert + Esc

Question Number : 24 Question Id : 558139228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

There are 10 files in a folder. which need to be selected together. Which of the
combination of keys can be used?

Options:
1 % Cil+Z
o> o Chl+ A

=z ® Alt+ A



4 % Shifi + A

Question Number : 24 Question Id : 558139228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Ctrl + Z
. v Ctrl + A
2w Alt + A
. = Shift + A

Question Number : 25 Question Id : 558139229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The software used for preparing text based documents is referred to as:

Options:
. % DBMS

~ % PPTs

5 w Spreadsheets

4 « Word Processors

Question Number : 25 Question Id : 558139229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » DBMS
- » PPTs
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Question Number : 26 Question Id : 558139230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MS Excel is ideal for:
Options:

, w Dbainting a picture

o  drawing a graph



5 » editing a picture

4 % Writing a story

Question Number : 26 Question Id : 558139230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 27 Question Id : 558139231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If in MS Excel. you are trying to make a graph using the available data in the spreadsheet,
you will click on:

Options:
1 % Home Tab

« Insert Tab
s Data Tab

o LA DD

# Review Tab

Question Number : 27 Question Id : 558139231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 558139232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you have a spyware in your cmnpu‘rer:

Options:



, % Your computer may take longer than usual to complete certain tasks
~ % Yyour computer may crash more frequently
5 % Yyoumay see pop-up advertisement even when not connected on web

4  all of the other options

Question Number : 28 Question Id : 558139232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 558139233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:

| % Creeper

> # Blaster
=z % Ilove You
4 « PPT

Question Number : 29 Question Id : 558139233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 558139234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IBM stands for:
Options:



1 % Indian Business Machines
> « International Business Machines

- » International Banking Machines

4 # International Business Models

Question Number : 30 Question Id : 558139234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 31 Question Id : 558139235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Servers are computers that pl‘Di-’idE resources to other computers comnected to a:

Options:
1 « Network
- % Mainframe

5 % Super computer

4 % Client

Question Number : 31 Question Id : 558139235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 558139236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



When sending an e-mail, a brief description of the mail content can be included in the
tab.

Options:
1 % To

> o Subject
= % Content
g4 W e

Question Number : 32 Question Id : 558139236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 558139237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The design of the network is called the network

Options:
1 « Architecture

- % Server
% % Transmission

4 8 TYPE

Question Number : 33 Question Id : 558139237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 558139238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Slide sorter option of power point is available on menu.

Options:
1 % Insert

- % File
3 o View
4 ® Edit

Question Number : 34 Question Id : 558139238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 558139239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A 1s defined as a collection of related data in an organised way.

Options:
1 % Data

> ¢ Database
z ® DBMS

4 % Information

Question Number : 35 Question Id : 558139239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 36 Question Id : 558139240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following a short cut in MS Excel to GOTO option?

Options:
1.¢ F5

o> R F4
T B F7
4 % F10

Question Number : 36 Question Id : 558139240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1« F5
> % F4
= % F7
4 % F10

Question Number : 37 Question Id : 558139241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the shortcut keys can be used to close the window of Excel?

Options:

| v Alt+F4
5 % Alt+F10
z # Alt+F1
4 ® Alt+F7

Question Number : 37 Question Id : 558139241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

v Alt + F4
, % Alt + F10
2 = Alt + F1
4 % Alt + F7

Question Number : 38 Question Id : 558139242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



What is Google Chrome?
Options:
1 « Web browser

- % Worm

- » Search Engine

4 # Anti-virus

Question Number : 38 Question Id : 558139242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TET FIH FAT &2
Options:

| 99 FE

o ® EFF"
4 #® Eﬁ-m

Question Number : 39 Question Id : 558139243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The keys in a keyboard are:

Options:
, w Alphanumeric Keys

-~ % Functional Keys
5 % Arrow Keys

4 + Alphanumeric Keys. Functional Keys and Arrow Keys

Question Number : 39 Question Id : 558139243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FarE F Fr oy gHR A §2
Options:

1_$6 .:4 -
el hiaTdT
2_$§ 3
& S0
3_$§ L
4Jaﬁmm$ﬁm; T, SRl Hierar T W Fieram

Question Number : 40 Question Id : 558139244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

OCR stands for;

Options:

1 # Outsized Character Reader

-  Optical Character Recognition
- % Operational Character Reader

4 % Only Character Reader

Question Number : 40 Question Id : 558139244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

OCR #T 90T &9 gl
Options:

| ¥T3TEESS FaeT fW
- Hicewer el Nerfaea
3 ® HTTrAS ey I

4 % Hieol gy I

Question Number : 41 Question Id : 558139245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A pixel 1s:
Options:

, % @computer program

- % apicture stored in secondary memory

5 o the smallest resolvable part of a picture

4 % @programming language

Question Number : 41 Question Id : 558139245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Remer . F

Options:
fisig T FYT JETH

, » U B 2 S s AA 7 gl
. v TF JER F Ta0 o Reteaqe e

4 % U QT ST



Question Number : 42 Question Id : 558139246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not an output device?

Options:
, % LCD

- % Printer
z # CRT

4 « Touch Screen

Question Number : 42 Question Id : 558139246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
: - .
fFmafaf@a 7 & Fla @ v 33eqe Barsy Adr 27

Options:

. % LCD
> % 9T
-5 CRT
4 v T T

Question Number : 43 Question Id : 558139247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the fastest port for data transfer?

Options:
, % USB

> % Serial

Parallel

®

2
4 « Firewire

Question Number : 43 Question Id : 558139247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T 7 ¥ Fi7 °r 21 I7aw F AT geg 39 9ic 272
Options:

, » USB

o B 3

Sﬁm
4 v FIOTETER

Question Number : 44 Question Id : 558139248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What does the domain code “.gov’ represent?
Options:

1. ¥ Government HgEIlCiES

> % Governor of India

- » Indian agencies

4 % Spam

Question Number : 44 Question Id : 558139248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SIAT FT gov' Torme gfafafees #aar 27
Options:

1,mﬁrwﬁﬁm
. % SRA & TFR
5 % ARG THATEAT
4.%3'\':‘#"

Question Number : 45 Question Id : 558139249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An education institution would generally have the following in its domain name:

Options:

| % OIZ
> o .edu
3 # .com
4 ® .2u

Question Number : 45 Question Id : 558139249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HTATTT: R8T §8er & Saa A 7 & 2T 2l
Options:

| w -0rg

> « .edu

z # .CcOom

4 % .U

Question Number : 46 Question Id : 558139250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out:
Options:



1 # Leased line
> % Dial-up
=% DL

4 v USB

Question Number : 46 Question Id : 558139250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T/ # 30 ¥ & Fr 9g=9a i
Options:

| x WIS TTEd
> % SMdel-39
z % D5SL

4« USB

Question Number : 47 Question Id : 558139251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Junk Emails are also known as:
Options:

1 Spam

> % Spoof
=z % Crumbs

4 % Inbox

Question Number : 47 Question Id : 558139251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
IF THT F T FE w F off J=r Far 2

Options:

1;?“-@'

o W &,

5w Tl
, x SEIH

Question Number : 48 Question Id : 558139252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is an Email attachiment?
Options:

, % A email receipt notification



o A separate document from another program sent along with an e-mail message

5 ® A virus
4 = Listof recipients in BCC and CC

Question Number : 48 Question Id : 558139252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SHOT FdTHT FT 27
Options:
it SH & gIeq HOgEaT g
¥=g 9EnH ¥ AT v 3o gEaEa A -39 e & gy
L » ST A &
o R Tk dT4IH
, » BCC 3R CC # sreashelrait #r =

Question Number : 49 Question Id : 558139253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Trend Micro 1s a:
Options:

1 #% Virus

5 o Anti-virus
= % Worm

4, % None of the other options

Question Number : 49 Question Id : 558139253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

¢35 AISH FT 87

Options:
1 % STOTH

s % FH
, « ¥ fawedt 7 ¥ F1g A&

Question Number : 50 Question Id : 558139254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Background of screen of your PC is known as the:

Options:



, % Application

> # Window
5 o Desktop

4 % Frame

Question Number : 50 Question Id : 558139254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
394 PC &1 Bhia #r Tsosifd 1 fFaess &9 7 A= S1ar 82

Options:

| % UTCoIerare
> % [T

. v TR
4 % WH

Question Number : 51 Question Id : 558139255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following has the shortest access time?

Options:
; % RAM

-~ % ROM
3 « Cache

4 % Memory

Question Number : 51 Question Id : 558139255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Frafaed # & FFEa BT FAT 79 4 87
Options:

, » RAM

, %« ROM

3 o ol

4_&331?41'&

Question Number : 52 Question Id : 558139256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arrange in increasing order - Megabyte, Terabyte. Kilobyte, Gigabyte
Options:

, % Kilobyte, Gigabyte. Megabyte. Terabyte



- # Megabyte. Terabyte. Gigabyte. Kilobyte

-  Kilobyte. Megabyte. Gigabyte. Terabyte

4 % Kilobyte. Megabyte. Terabyte. Gigabyte

Question Number : 52 Question Id : 558139256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

9ed FH H Oareyd #1{

Options:

o w HIMETSE, TS, Aemarse, feheiaTse
5 v (AlEISE, HMETSE, AETESE, SEST

READING COMPREHEMNSION

Section Id:

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Id : 558139257 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (53 to 57)
Juestion Label | Comprehension

55813964
2

Online
Mandatory
1

1

5

Yes

No

1
55813964
Yes



Laptop security is of primary importance for organizations in consulting domain. In fact
loss of laptops 1s considered to be the biggest security threat to organizations today. Yet, it
1s surprising that the over 80% of the consulting firms do not have a strong laptop security
policy. Laptops today contain highly sensitive information about not just the consulting
firms. but also about their clients. Loss of a laptop could easily lead to sensitive
information getting in the hand of a rival or a mischief maker, who could use it to bring
harm to the organization and its clients. It is for this reason that one of the pre-requisites
for offering consulting confracts. is to have an internal laptop security policy. Laptop
security policy includes a series of initiatives such as training of employees on preventing
data loss due to laptop theft. Such training comprises simple instructions such as:

1. Keeping laptops out of sight of others when not in use.
Not leaving Laptops in the seat of a parked car
Keeping laptops chained to the workstation both in office and at a client’s place
Ensuring that laptops are password protected
Ensuring regular back up of laptops.

oW

Lh

Apart from the preventive steps. the team is also trained on steps that they should take in
case of a laptop loss. This includes:

1. Immediate intimation of loss to the central IT cell

2. Reporting the loss to the police

3. Blocking all concerned passwords and user ids for access to central data base.

Sub questions

Question Number : 53 Question Id : 558139258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why is the author surprised?
Options:

, w Laptops are being stolen

- » Laptops are being stolen even when organizations have a security protocol
Though laptops security is a threat, 80% of the consulting firms do not have a laptop
5  Security policy

, » Employees do not follow laptop security

Question Number : 54 Question Id : 558139259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per the author. why should consulting firms have a laptop security policy?
Options:
, w So that employees can be trained

Laptops have sensitive information not just of the firm but also of the clients, which can be
- « Used to bring harm to the organizations
5 » To prevent loss of laptops

4 % Towin confracts where it is mandatory to have a security policy



Question Number : 55 Question Id : 558139260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Out of the following which measure has not been mentioned by the author as a method of
preventing data loss due to laptop theft?
Options:

, w» Not leaving laptops on the seat of a parked car

-~ » Keeping laptops chained to the workstation
-  Keeping an organization approved anti virus

4 w Ensuring regular back up

Question Number : 56 Question Id : 558139261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the author what could be the possible actions in case of a laptop theft?

Options:
1 +« Inform the Central IT cell
> % Take regular back-ups

5 = Keep the laptop locked

4 w Keep the laptop password protected

Question Number : 57 Question Id : 558139262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What do you think is the objective of the Article?
Options:

, w Highlight the need for laptop and data security

-  Highlight the importance for laptop and data security along with the common practices

5 % Share the common security protocols followed for laptop and data security

4 » Justify why laptop and data security protocols are required

Question Id : 558139257 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension



9T (Consulting) FTIeTT & 2 HEHT F AT #A9era geam v qraiHiw
HFITFAT g IEIT H, I9AT H o9aT & FqHAA P & HEATHT T FIaT & T
TaH 997 @I AT 97 g1 J9Y, I8 ATeTdaaE & 9 80% ¥ T gAY
HETHT F ITH oSS GIET & WAFA Alla 3Toed el g FAAS H, oAuerdr H
F hae AT WA § FFaAd, Aq 39 AR § off Fafaq deaide
gaeATe AHFNT Tarfgd F1 AT g1 oweT Fr = & FF 9T I FFE
HTHEAT § ITacaee Sal 3eEr 3SUSTaar & g1 o Ghdr §, =7 39 TEAT U9 3
ama:‘ia?rgrﬁrqg”mﬁ#ﬁ‘mmmmm g | =dr FFrIorEe, ove
FrawdT HTafe FIET Afa Fr 3Teewdr, TUAT FFaul  (consulting contracts)

F Yo H HE&T od g1 ouerT gram Aify # 3 ugd aifae € J¥ dver #
T & Feor =reT v @ity Fr JwArH FT o FH=AT FrogiHveror) vw givefot #F
AT HASo ofde T S § 3w

1. o9l & 9O F fFT I3 W 38 3= @R $ Fa F &7 @A

2. SYErT HT IIfheT TAS H WE FR HT e W A4 AT

3. FTATAST TF IEHT & TATH ST I7 oH9eIT &F I & aeT FT AT

4. 7g gARTa Fa & overT qTHeEE @ @i 2

5. ouery @1 afAa d%-30 gAfvas &
FIETTcAS 39TAT & FAET, oA9erd & I g J W &7 ZanT & J= e
FETS FT & gfdrefor A= o smar & o FaffEa &

1. FE1T HIAT SRR FaT (Central IT Cell) F Teeplel AT TSI FHIAT|

2. qford 1 sFeEs 1 gIar AT

3. FET 3T a9 H 9lAfte ¥ 32 welt Hafdq wrHas o9 IuT A3 & ol

T |
Sub questions

Question Number : 53 Question Id : 558139258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

|: &
EF HRIIElhg 4t &7
Options:

|, e & A d
TEATHT F AT Serhre # 39Rufy W o sivemt Fr =l & @& &

eI oI9erT &t U6 @l g, 80% RIAY HEATall # ofverd et A
. » 3 e B

o B



e FHARIEIT, 9eTT FI&T HT HTHEIOT F&T HI 2|

Question Number : 54 Question Id : 558139259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SWF & HTHN, TIHY HEATHT F AT FI&T Alfer Far glelr =Mew?
Options:

| % O FHAIET F IiET BFar 51 T
ATET F F Fae TEAT HG TR F off TR HIeANT AR BT &,
, o T s e & sifew & e f o g B
5 % oeErdr T AT F IS F [0
e SR ey gred A & fow grew Aife wfaar g

Question Number : 55 Question Id : 558139260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wﬁ#mmﬁﬁqﬂﬁm F T ﬁmﬁﬁﬁﬁﬁﬁﬁﬁw
39T & 3oo® Al har 27
Options:

| % OIS F TIReT TUA H T FIX HT HT T AGT I@AT
o % OISl @ FATTS H I H T T G

. TE FgEfed TEr ARy e

, x AT 8% H9 gAfEa w3

Question Number : 56 Question Id : 558139261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
STF F HAN, TSI HT AN B F G, W FNASAT FAT & Hepall 872

Options:
1_3{%&1‘&@%{&1‘%@%@@%?%
- » @O@T S% 79 o=

A

5 % Of9EIT H dTell oE & I@a

oI9ErT HI TTHES ZART FIiEd 1@

4 ®

Question Number : 57 Question Id : 558139262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



HTI HJHN 390 o FT 3827 FAT g7

Options:
- Wuﬁmw fr FFeTFAr 9T TRt STAAT

3k
zfﬁrﬁqﬁmw#w--mmmﬁa:mwmrm
B SIS TS STET GIET g HFJHIT U AT WA GIET WISrHiel TIAT

- I TIfad & & 9T v Srer GIET GIelhid H1Eedd B §

OUANTITATIVE AFTITULE
Section Id : 55813965
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55813965
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 558139263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

One root of the quadratic equation ax” + bx + ¢ = 0 is twice the other. which of the
following conditions holds true?

Options:
1 « 2b°-9%9ac=0

-

> % b"-9ac=0
=z # C? =9ac

4 % C2=4a+b”

Question Number : 58 Question Id : 558139263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
giaaTa FHHIT ax’ + bx + ¢ = 0 FT & HA, Fod HA & T ¢l
=T # & =9 a1 TFeT T 82

Options:

. v 2b%2-9ac =0




- % b2-9ac =0
2 % C2 = 9ac

4 C? = d4a + b’

Question Number : 59 Question Id : 558139264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The sum of the roots of the quadratic equation 5x* + 2x - 7= 0 is:

Options:

L % 5/2
P -2/5
o ® 2/5

q ® -5/2

Question Number : 59 Question Id : 558139264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afreTa FHEoT 52 + 2x - 7 = 0 % FF FT AT 2l
Options:

% 52
.  -2/5
. % 2/5
L % -5/2

Question Number : 60 Question Id : 558139265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value of n in the following series.
100, 96.92. n. 84

Options:
1 % 82
> % 80
3. v 88
4 % 90

Question Number : 60 Question Id : 558139265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
F=fer@a &7 100, 96, 92, n, 84 H n T HF T417]

Options:



Question Number : 61 Question Id : 558139266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A vertical pole of height 25 meters casts a shadow of 75 meters on the ground. At the same
time. a tower casts a shadow of 300 meters long. What is the height of the tower?

Options:
1 % 10 meters

> o 100 meters
3 % 125 meters

4 % 175 meters

Question Number : 61 Question Id : 558139266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
25 #HeY 315 & US oEad @ ¥, Odr 9 75 #Hex fr Worw gsdr g 39
AT, TF a7 ¥ 300 HeT T o= 9247 g1 ey f F= 777 872

Options:

, % 10 #HrET
> « 100 #HET
- % 125 HEY
4 % 175 HAeX

Question Number : 62 Question Id : 558139267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value of n. if the following equation holds true, (2 Ryt (2}4 = ()"
Options:
1 % 24
> % 6.5
z o 12
4 % 13

Question Number : 62 Question Id : 558139267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofe F=afEs gdeor 58 &, 8 n #1 #7997
(2% x (2)* = (4)"

Options:



3\,—-"12
g4 ® 13

Question Number : 63 Question Id : 558139268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If {(33)3j4‘ = 27", then find the value of n.

Options:
1.+ 8
o % 9
= % O
4 % 10

Question Number : 63 Question Id : 558139268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tt (( 3%)A)%= 27° & n FT AF TIT

Options:
1.« 8
o ® 9
o ® 5
g4 '! O
GEMERAL MENTAL ABILITY AMND REASONING
Section Id : 55813966
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 55813966
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 558139269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If PLANE is coded as OKZMD in a certain language. how will TRAIN be coded?

Options:
. v SQZHM



., « UQBHO

s % USBIM
4 % USBJO

Question Number : 64 Question Id : 558139269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofe Tt s & PLANE 37 OKZMD & &9 & @@ =mar &, aF TRAIN & r
T orgr Sree?

Options:

. v SQZHM
, « UQBHO
- » USBJM
. = USBJO

Question Number : 65 Question Id : 558139270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After walking a distance of 500 m south of her house, Lakshmi turns left and walks

another 200 m. Then she turns north and walks another 300 m. She now starts walking
towards her house, In which direction is she walking?

Options:
1 # North —East

> « North — West
=z % South

4 % East

Question Number : 65 Question Id : 558139270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TEH I TR F AT H HRT 500 Hiex oS & A a1 HR Fuar & AR
200 #HreY Tordt §1 38F a1¢ IF a7 I J3AT € 3R 300 Hew T g
T HTA W H AN TS FaT gl e g ar s s B 2

Options:

| % IR -8
EJW 'qﬁm

5% afem
4 ®

Question Number : 66 Question Id : 558139271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Insert the next number in the series 4, 7. 12, 19, 28,

Options:
1 ® 41

o o 39
T R 49
I 51

Question Number : 66 Question Id : 558139271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4. 7 12, 19,28 FH H 39T dF FT @ET F:L

Options:

1 & 41
> « 39
2 % 49
4 % 51

Question Number : 67 Question Id : 558139272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Answer the question based on the Pie Diagram.

Proportion of Land Under Cultivation of Fruits
Total Land under Fruit Cultivation (2,00,000 Acres)

20%

Apple
® Banana
m Guava
" Pineapple

® Orange

15%

How much land in acres is more under cultivation of Banana than Pineapple?

Options:
1 « 30.000 acres

5> R 15.000 acres



z % 10.000 acres
4 R 5.000 acres

Question Number : 67 Question Id : 558139272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e &9 F YR 97 79 F T Iea7 2

Gol A @dl F dgd {A F A

el @I @dl & ded de HA (2,00,000 TsHg)
20%

30%

25% o T
10%

15%

HerATH HT YT HT JoAAT H el HT WAr F T haar Hfaw
et Fr g7 87

Options:
. » 30,000 Tz

. » 15,000 THT
- » 10,000 v&E
. % 5,000 TFE

Question Number : 68 Question Id : 558139273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

There are 5 friends - Ranjan, Shakti. Manish. Alok and Gitesh. Ranjan is shorter than
Shakti but taller than Gitesh. Manish is the tallest. Alok 1s little taller than Ranjan but
shorter than Shakti. Who is the shortest of them?

Options:
1 « Gitesh

- % Alok
= # Shakti

4 = Ranjan
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Correct: 1 Wrong: 0

The rainfall data for the months of July and August are given in the Bar chart below for
5 years.

Rainfall For Months of July and August for city XYZ

250 4 230

= July
B August

Year

In August for Year 2, the average rainfall for the first 16 days was Smm and for the last
16 days was 8 mm. Find the rainfall (in mm) for 16th August in Year 2.

Options:
1 ® 6

- R 16
T B 32
4 22
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1 % 6
> % 16
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4 22
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Question Number : 70 Question Id : 558139275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which important economic reform was in the news recently?

Options:
, « GSTbill

> # Service tax bill
- u Corporate tax bill

4 % CSTBill

Question Number : 70 Question Id : 558139275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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| v GST f&ar
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Correct: 1 Wrong: 0
World Peace Day is observed on:

Options:
| = 29 August

> % 5 September
- 21 September

4 # 2 October

Question Number : 71 Question Id : 558139276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0

Which of the following urban developed schemes has not been announced recently by the
Honourable Prime Minister?

Options:

, % AMRUT

- % Smart Cities
5 » Housing for All

4 v INNURM
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Correct: 1 Wrong: 0
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which state has topped the list of states commissioning grid connected solar power
projects in the country?

Options:
, % Madhya Pradesh

- % Himachal Pradesh
= % Tamil Nadu
4  Rajasthan

Question Number : 73 Question Id : 558139278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
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Correct: 1 Wrong: 0
Baseline Profitability Index 2015 has ranked which country as most attractive investment
destination in world among 110 countries?

Options:

1 % UK
> « India
z % USA

4 % China

Question Number : 74 Question Id : 558139279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Correct: 1 Wrong: 0
Expand GAGAN:
Options:

, « GPS Aided Geo Augmented Navigation

> # GPS Aided Geo Automated Navigation

- # GPS Automated Geo Aided Navigation

4 = GPS Augmented Geo Automated Navigation
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Correct: 1 Wrong: 0
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ome of the biggest challenges faced in building capacities of a progranume with a large budget ($4 million in
this case) is that often the knowledge transferred to individuals does not translate into action. Individuals
though aware about the best practices don't use thern while implermenting projects and continue with the sarme
practices that they have got used to. Thus, capacity building will need to be associated with effective change
managing accomparnliments and a communication strategy. One of the key considerations for a capacity
development professional remains: [s training alone really enoughl With the abowve challenge in mind, we
believe that capacity developrnernt will need 1o be viewsad at three leveals in a Systermic manner. Capacity at the
Individual Leval: This is the most fundamental level of capacity development and cormprises the skills,
knowledge etc. Capacity at the Organisational Level: This refers to the organisational ability to utilise
individual skills, This may include inter-institution linkages, networlking, leadership etC, Capacity at the
Environment Level: This refers to the environment and conditions necessary for dermonstrating capacity at the
organisational and individual level. This includes processes, systems, policies ete. The above three levels of
capacities, when coupled with effective change and knowledge management will result in capacity
development initiatives translating into desired action on the field. Keeping this in mind, the Board of
Governors has decided to allocate 5% of the annual budget to training and capacity building Cur principle of
developing knowledge forums is based on the five cornpetency frarmework, which has been widely researched
and considered successful in outlining the process of creating effective knowledge forums for NGOs [C50s.
The competency framework works on the principle that effective sharing of knowledge and learning is based
on improving performance on five important competency areas: (1) Strategy Developrnent, (2) Managerment
Techniques Used, (3) Collaborating Mechanisms in Flace, (4) Knowledge Sharing Frocesses, (5) Knowledge
Capture and Storage. The five competency framework enables programnumes| group of organisations to work
out: (1) Which are the areaselements for sharing and learning?, (2) & framework to support sharing and
learning?, (3) How to connect people with sormething to share with people with something to learn?, (4) How to
capture and manage knowledge? We will further develop the framework in the next section, while introducing
the methodology that will be used to establish these learning forums.
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